Descomposicio de nombres n° 6

Descomposa els seglients nombres. 215 =200 + 10 + 5 o0 a partir de la descomposicié escriu de quin nombre
es tracta.

© 3.000.000 + 600.000 + 60.000 + 3.000 + 700

® 50.000 + 6.000 + 40 + 2

® 1.000 + 600 + 80 + 2

® 30.000.000 + 1.000.000 + 600.000 + 30.000 + 3.000 +
200 + 20 + 6

® 400.000 + 80.000 + 1.000 + 100 + 20 + 2

® 7.000.000 + 700.000 + 10.000 + 8.000 + 900 + 90 + 7

@ 900.000 + 80.000 + 6.000 + 900 + 60 + 6

3.000 + 900 + 60 + 1

® 6.000 + 300 + 50 + 4

500.000 + 80.000 + 1.000 + 800 + 1
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